
Matriculation Number: CS5248 Quiz 4

CS5248 Systems Support for Continuous Media
Quiz 4

Answer the question in the space provided. Please be precise, succint, and write eligibly. Please state
your assumptions (if any) clearly.

1. Banerjee’s NICE multicast scheme do not consider the case where nodes can have different amount of
bandwidth and computing resource.

How would node heterogeneity affect the performance of NICE? Briefly describe how you would
modify NICE so that the overlay tree constructed takes heterogeneity into consideration.
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